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Question1                                                                               

For the function   1)
2

cos(2 ++−= ππ xy  

 
a) Complete the following table (write the rule when that necessary).                                (2 Pts) 
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b) Graph the function over one complete period                                                                 (2 Pts)                        
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Question2 
 
If  tk cos40cos40sin =°+° , where k  and t  are real numbers, then , find all values of  k  and t . 
                                                                                                                                                      (2 Pts) 
Solution 
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Question3  

Verify the identity   
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Question4        
 
Find the exact value of   the following expressions: 
 

a. ( )200 15cos15sin +                                                                                                            ( 2 Pts) 
 

Solution 
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b. 
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°°−

50cot80tan
50cot80tan1                                                                                                             ( 2 Pts) 

 
 
Solution 
 

3
3

3
160cot120cot

40tan80tan
40tan80tan1

−=−=°−=°=
°+°
°°−  

 
 

c. 
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Solution 
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d. 
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Question5                                                                                        
 

If 4sin ,
5

α α=  in quadrant II, and 12sin( ) ,
2 13
π β β− = −  in quadrant II, then find  

 
a. sec( )α β+ .                                                                                                                      ( 2 Pts) 
 

Solution 
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b. 
2

cosα                                                                                                                                ( 2 Pts) 

 
Solution 
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